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Optimale Losgröße 
 
 

Problematik: Lagerabbau 
 
1. Möglichkeit 
 
 
 
 
 
 
 
 
 
 
 
 
 
 1. Los 2. Los 3. Los 4. Los 
 
 
 1 Jahr 
 
 
 200 * Jahresbedarf * Rüstkosten je Los 
Formel:   X opt  = 
 Herstellkosten je Stück * Lagerkostensatz 
 
 
2. Möglichkeit 
 
 
 
 
 
 
 
 
 
 
 
 
 
 1. Los 2. Los 3. Los 4. Los 
 
 
 1 Jahr 
 
 
 200 * Jahresbedarf * Rüstkosten je Los 
Formel:   X opt  = 
 Herstellkosten je Stück * Lagerkostensatz * Produktanzahl 
 

Durchschn. 
Lagerbestand 
 
      Losgröße 
=   -------------- 
            2 

Durchschn. LB 
 
    Losgröße     Produkt-
= -------------  *  an- 
         2             zahl 


